Question
Evaluate the triple scalar products a-b x c and b x a - ¢ given that:

(i) a=2i—j—3kb=3kc=1i+2j+2k

(i) a=i+2j+kb=2i+j+kec=4i+2j+2k

Answer
i j k
a-bxc (apa+ asa+aza) - | by by bs
Ci C2 C3
a; ag as
== bl b2 bg
Ci C2 C3
(think about it!)
(i)
2 -1 -3
a-bxc = |0 0 3
1 2 2
= 2x0x2)—(2x2x3)—(0x—1x2)
+(0x2x =3)+ (1 x—-1x3)—(1x0x —3)
= 0-12-04+0—-3+0
- 15
Now
(bxa)-c = —(axb)-c
= —a-(bxc)
~ +15

by relevance to the above determinant.



(ii)

a-bx
2
1
2

O — = 0

1
2
4

= (Ix1x2)—(1x2x1)—(2x2x2)
+(2x2x1)+(@dx2x1)—(4x1x1)
2—-2-8+4+8-4

=0

Hence (bxa)-c=—(axb)-c=-0=0



